, ariginal block
. ass of the originad
: cactly one-half the mass 1 it clides down
ints): A second block of exac g2 - released, it slides dc
?31:';3 525(?;? re)st at Point A. When the original block s rele
1S ¢

the slope and collides with the second I‘:)l(.)ck at Pom}it h T T
blocks stick together. Determine the minimum heig

Tock must be releast te the loop
Block must be released so that the two stuck-together blocks comple
without falling off. Express your answer in terms of R.
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(1) Pereectly inelashic , K.E. Is (ost
m Mma=Mm
L\!HL __>VD
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@During coflision: :
m’l V?;i S mMrL 3 (m1+m1-) Vo

mVy, 0 = 3my,
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Vh( ~ ivo :W
B L
W

® From the Point Where m, s released ™ before collision
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x &
( ,: A = ; 3 1:}' - q ('i’
2. ¢ ’ ?_ 16
and my Collide to the TOp of the loo p
S Ry
9(2R) + Bmy, > A
L
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A - X
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=3Mg(1R) 1(3_[}__4} meﬂn Y 3
L 2 L Vl‘:q'* < 1A R §__V¢, = 15RS
3Imyt =15 Rq ¥ v ; w

4 L o/ UFRY




